
Supplied Hardware	����������������������������������������������������������������������� 2
Parts List	��������������������������������������������������������������������������������������� 3

Installation	������������������������������������������������������������������������������������� 4

©Wenger Corporation 2024	 Printed in USA 2024-09	 Part #241A244-02

Wenger Corporation, 555 Park Drive, P.O. Box 448, Owatonna, Minnesota 55060-0448

Questions? Call.....USA: (800) 4WENGER (493-6437) • Worldwide: +1-507-455-4100 • wengercorp.com

Contents

Installation Instructions
Peg Board Accessory 

for the GearBoss® Shelving System

Basic Instructions only!  
For more detailed product information, refer to the  

GearBoss Shelving System Installation Instructions 241A298.

CAUTION CAUTION CAUTION
Make sure anyone assembling, 
installing or using this product 
has read and understands 
these instructions.

Failure to comply with Warnings and 
Cautions in this document or on the 
equipment can result in damage to 
property or serious injury.

Never hang more than  
40 lb (18 kg) of total 
weight from the peg board.

Visit the GearBoss Shelving System web page at gearboss.com for more information.

Note: Please read and understand these instructions before proceeding.
Note: If you need additional information, contact Wenger Corporation using the information below.



2

Supplied Hardware

Panel Plate

#10 x 5/8"  
Pan Head Screw

3/8-16 x 2-3/4" 
Cap Screw

3/8-16 
Wing Nut

1

5

2 3 4

Plastic Extrusion

NOTICE
The 1/4” thick peg board material is not supplied by Wenger Corporation and must be 
purchased separately. See the Installation procedure for measurement requirements.



3

Parts List

Item Description
1 Panel Plate
2 #10 x 5/8" Pan Head Screw
3 3/8-16 x 2-3/4" Cap Screw
4 3/8-16 Wing Nut
5 Plastic Extrusion

6 Peg Board (not included)  
Must be purchased separately

5

4

1

6

2

3



4

Installation
1.	 The plastic extrusions (5) may need to be cut to fit between any components that are mounted  

to the shelf upright tubes.
	 Measure and cut both plastic extrusions to fit onto the shelf upright tubes as necessary.

Plastic extrusions  
must be cut to  

fit between  
any components  
on both sides of  
the shelf bank

A typical shelving configuration is shown, 
actual components and locations may vary

Plastic 
Extrusion 

(5)

Plastic 
Extrusion 

(5)



5

Installation (continued)
2.	 Attach one panel plate (1) to an end of each plastic extrusion  

using two #10 x 5/8" pan head screws (2).

3.	 With the panel plate side down, push the extrusion assemblies  
onto the shelf upright tubes.

#10 x 5/8" 
Pan Head Screw 

(2)

Panel plate side down

Panel Plate 
(1)



6

Installation (continued)
4.	 Drill a 3/8" hole near the bottom of each extrusion assembly. 

Horizontally center the hole over the crease in the extrusion and vertically align the hole with an  
existing hole in the shelf upright tube.

5.	 Attach the bottom of each extrusion to the upright using a 3/8-16 x 2-3/4" cap screw (3) and  
3/8-16 wing nut (4).

6.	 Drill a 3/8" hole near the top of each extrusion assembly. 
Horizontally center the hole over the crease in the extrusion and vertically align the hole with an  
existing hole in the shelf upright tube.

7.	 Attach the top of each extrusion to the upright using a 3/8-16 x 2-3/4" cap screw (3) and  
3/8-16 wing nut (4).

3/8-16 x 2-3/4" 
Cap Screw 

(3)

3/8-16 
Wing Nut 

(4)
Drill Hole to be Aligned with 

Extrusion Crease and Existing 
Upright Hole

Shelving components are 
shown removed for clarity

Drill Holes Attach Extrusions



7

Installation (continued)
8.	 Insert a peg board (6) to fit within the plastic extrusions.

a.	 Cut a 1/4" thick peg board (not supplied) to fit the width within the side notches  
in both plastic extrusions.

b.	 Cut the peg board to match the height of the plastic extrusions.
c.	 Fit the peg board into the side notches of both plastic extrusions and to sit onto the panel plates.

Peg Board 
(6)

Shelving components are shown removed for clarity

1/4" Thick peg board (6)  
must fit into the notches  
in the plastic extrusions



8

This page is intentionally blank.


